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No. 10 Z&F 50m Hik= BALL—R R ARFLER 32.60
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B & £ T & FE KK B [
1 K BAAL F> rSC /N5 2/ 1 35. 61 9%% ( 0.59)
2 7 S5 ]SSt /NG 2/ 2 37.82 8#% ( 0.69)
3 NH Z95R T S S ZEify /NG 2/ 0 39.07 % (0.71)
4 Fa¥y  TEH T S S &l /N5 2/ 8 39. 60 6% ( 0.68)
5 i FER TETE /N5 1/ 4 39. 68 6% (0.74)
6 [MH EK HILsSC /N5 1/ 1 40. 00 6#% ( 0.93)
TR B KTPO%M)% /N3 1/ 2 40. 49 8#% ( 0.65)
8 Rk R ] SS & /NG 1/ 8 40. 68 6%% ( 0.70)
9 I AERE AN S CPEiR ! 1/ 7 40. 97 7#% ( 0.61)
10 (U A0 S AME /N3 1/ 6 41.16 10f%  ( 0.82)
11 §zZ =5 I SSEW /N5 2/ 9 42. 41 5#% ( 0.72)
12 A HE T SSEIL /N4 1/ 5 44. 40 5%% ( 0.63)
13 B f3g BILSC /N4 1/ 0 45. 66 5%k ( 0.71)

No. 10 ZF 50m HikE A A L L— R R KERE 3142

L 11~12F >

B & £ T B FE KK B R
1 B 258 TETEIL il 3/ 4 33.00 9%k ( 0.62)
2 N B W. Lrd 5% NG 3/ 5 33.25 9% ( 0.63)
3 KM EX )7V IHTE 1 3/ 7 34.23 8tk ( 0.63)
4 AR A )7V R NG 3/ 2 34. 37 9%% ( 0.58)
b e Xt S ARME NG 3/ 0 34. 85 8#% ( 0.58)
6 AH = TETEIL NG 2/ 6 35.12 8%k ( 0.70)
7 )N AIRSCHIAK 1 3/ 9 35.19 7#%k  ( 0.55)
8 LRy HE TS SEIL /NG 3/ 6 35. 71 8#% ( 0.55)
9 "HMDA T S S Fix NG 2/ 4 36. 42 7% ( 0.57)
10 #HFH FE ] SSEhH ab! 3/ 3 36. 93 68% ( 0.61)
11 s iz JSSA=IRBRVE NG 3/ 8 36. 94 %% ( 0.57)
12 765 W& T SS&is NS 2/ 5 37. 41 T (0.64)
13 JEER fEiE T S S EEF NG 2/ 3 37.52 6% ( 0.74)
14 AHOLD JF rSC 1 1/ 3 37.69 5%% ( 0.60)
15 J/  BE &S C /N6 2/ 7 39. 01 5% (0.61)
16 FAH A T SSEIL /N6 3/ 1 39.79 5% ( 0.75)
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